AHEA Y L1

£
El
ol

o,
ol

=
2
=
rE
o
|
|

=&Y QoA

[1 EMS X AT ALY

e
TA Al ZF w dn] &
2015. 5. 16.(E) s s e
4 10:00~18:00 (10024)) 4 EAT F AT 25%.
O 227 82U
o AT BAT PR S
o BhEA] BeA WA AL (BN, AW ALV, 9, AT AL BD.
« AR JNE AxFor BEY & YxvT
C RUAE 2UE A T BE 2o 2YAAL

o G BRA 07 AT A
- gaAel G olfle] 54 E/, A4 A9 =
- deA BT A4S g AL
- 7o) A5 VR AHT A5
- 249 BE FRHZE Agstel 24T B

- gaAe] AP FAE Wt g Y A

rlr
B
>
e
ﬂlf.’-:"
o,
o

.l

g

SEOULTECH
M2 |0t




e mearerianeta

EOULTECH s

[£4] 1] & AANES 42 EF EsA L.

o) EEA
HA 9o & AH Fok H FE AUA &

AR7h e Aee HAgE F=Adolega 3

fr

g AgAA 1o] Fojd w, A Fek AA (o] o]E=

.
T
colwl, A FE EEANY 2, AAA & EEAH9

i

(% BH 2 "ol
e P2 [abllA @
Wolg sehu @ o, 77

[1.1] 22X y=2+z+19 247} F4S F3A L.

[12] £=%

[1.3] FEX y=z?+z+13 AH y=20152 S8 9] HolS T3 2.

(1/4)




2016stdE +A2Y =Y RO DAKRIAUA E)

[£A] 2] & AXNES 2 EFd E3A2

b FAEL 39 Ao

HEx &9 Zol7} rolal, FAIZe] AV 7F 991 K-z

y =

b F#e 7Md 2ex
e E FF f(2)7h 2 =adA TS MW

=

AFol 2kmQl @ EYe] E47F b 55 =
A B7VA 7hH A gk AoA O7MA = SElo]l dA S )
T4 MR E A SHo 7 A A

[21] 6= 2 BAC (0<0< %)E} & ow HE ACe Zolgk B OB WolE 9= JERA L.

[2.2] wfe]

0 @ W AdA 02 AR BAA b AeE A% 49
3

(28] W) Seol AT skmet ax AAA) Sol N B gmrk HW 9= A f(0)7
Ao BEA A .

(2/4)



e Mgarepiagea

EOULTECH s

[£4] 3] & AANES d2 EF F3A L.

R EPRE!
WE o= (0y,09,05), w= (wy,warws) ol A, F WEIS] WA 4o 0

i

= Aoa 58 T Wzt $49 RFPEAL o w=00]h

(b B 3Ry
A (@gypz) e Ak, GUEZE obd ME (ab.c)ol FHo] HE

alz—zy)+bly—y,)+clz—2,)=0

o

%9,] Hg—ﬂ}\l_‘%

oItk

St FAel Udeln wAFel 49 Folu 7 wWE (LLDF FAoli AHOoRYE At 30
5 BHol
311 FW 79 PRHE TS

[32]1 7+ SoF ®HW 77} WA 7= Do HolE ek L.

331 9ol 321514 A71% 9 FAcl5Rat Fuel WANL artby+ez=dE JENA ab,cd
A W, ol bl ld e g AxE s Bue PR TehAL

(3/4)




20168HEE 44|27

=Y EO IAKIAAE)

[EA] 4] & AAES a1 ES E3AL
(7} gro F3gko) B A=A
a,f7F 4ol al limf(z)=a, limg(z)= 34 o, th&ol 4 Hech
(1) Iimkf(z)=ka (&, k&= A5)
2) lim(f(@)+g(@)l=a+p
3) limf(x)g(x)=ap
g9) HAL pow, -0 WE AYDT,
(W) A F3
a>14 W |ima*=o°]3, 0<a<1¥ W ]ime*=0°]t}h
(th) 9549 =4
o f0)7 z=adld 95 BaFExAe Bei 2o
(1) f7F z=a°llA gol=o Utk
(2) Iimf(z)7F EA g
(3) hmf(ar):f(a)
1_Tn+l
[41] r= 1013 ne AAFY W) 147402+ 40" = T g Kol
t
[42] Aol A Aolh 35 7F 2 =004 AFoli 0<a< 1 W =3 1im(%)f(at“x)% T L.
t— o0
[4.3] AolA AHold &4 f7F x=0914 dFolH 0<a< 19l a9} ZE A5 zo tiste] thg A
e o
2f(x)—f(ax)=x2+x+1
n t
W f@)E TEAe. [Fe lim(—) f(a”“m)—tlim(% £l 1))

(4/4)




